Name:

(Sheet 1) ¥3 HW

Occa.s'meLH, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

What is 100 less than 7897

What is 10 more than 2157

What jructlon o_f the
sh-::pe is shaded?

Fill in the missing numbers
_from the number line.

My train leaves at 5:50pm.

It takes 2 and a half hours
to get to my house.
What time do I get home?

Work out these
calculations mentallg.

268 - 3 =
458 - 33 =
729 + 30 =

69 x 3 =

Fill in the multiplication circle.

16

12
/2

24
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Name:

(Sheet 2) ¥3 HW

Occa.s'meLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrordLscuss it with someone who you think may know-

Jessie’s frlend tells her that the
time is 4:40pm. Draw the
hands to show this.

Write a 3 digit number with

6 in the ones place.

Write a 3 digit number with 6

in the tens place.

What is the perimeter o_f

this shape?

4em

What is
four multiplied by seven?

Write your answer in words.

What is
three multipl'Led bg ten?
Write your answer in words

Would you rather have one third oj 30
marbles or one _flﬁ:h oj 25 marbles?
Why?

674 - 29 =

What numbers are next in the sequence?

0, 8, 16, ,

24 20 16, ,

56, 48, 40, |
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Name:

(Sheet 3) HW

Occas'wnally, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Andg wakes up at this time.

Write the number which
represents the tens place.

Finish the calculation
using drawings.

Minnie buys 1 mango and hal_f
a kllogrum of grapes. How
much does she pag?

% each mango: 69p

245 Q78 . O . O . O O
L JOAX I JNOl®)
708 879 OO OO OO £2 per kg
What time is it? 4 q7
20 cakes are shared equally on to 5 plates. Draw a pentagon.
What fraction of the cakes does 82 x 3 =
each plate have? . . - e o« ® o

—
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Name:

Occas'wnally, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

(Sheet &) ¥3 HW

Draw a line to match the
calculation to the correct

answer.

40 -7 = 43
Y2 of 40 = 33
45 of 10= 3
12+ 31 = 20

How many days are there
between March 17t and
April 12?

How many minutes are there

between the times shown on
these 2 clocks?

; 2
Circle T of the apples.

PPN
H

What is the difference

between 899 and 4957

What number is 149
more than 7997

409

Write these numbers in words.

849

590
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Name:

(Sheet 5) Y3 HW

Occa.sLonaLLH, there may he some questions we have not covered. in class yet. Don't panic. Have a go*orcLLscuss it with someone who you think may know-

It’s a leap year.

How many days will there be in
that gear?

How many days will there be in
February?

LeapDay,

Circle 2 numbers that will add
up to make a multiple of 3.

6 7 8 9 10 11 12

Fill in the multiplication circle.

4
12
40

32

Calculate these mentally.

278 + 200 =

888 — 700 =

1??+800=|

Tick the angles which are greater than a
right angle.

99 + 199 =

Look at the shaded shape. Match each
fraction to the correct place on the
number line. One has been done for you.

A
000
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Name: (Sheet 6) Y3 HW

Occastmwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

What numbers do the What is the time? Tick the angles that are less
circles represent? True or False? than a right angle.
f[} Parallel lines alwags
\—/ (1 AT touch.
(10) é“&/
Xa< /«f@
1[}\\ - You can make a
/1[}\* K perpendicular line with
N one line.
Look at the pictogram. 911 - 367 = Look at the balance scale.
® -5 True or False?
-
haurcut o000 Twice as
— T T ° 1 many people
ii +3 got a blow A
blow dry ® dry than a
colour i?. Stg[@. HUW mUCh d.O'E"S 1 i WElgh?
sty |o +1
[
NO
<
=

N Y




Name:

(Sheet 7) ¥3 HW

Occas'mwuy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Work out the calculations.

Complete the table.

Colour in the multiples of 8.

What's my shape?

i 950em — ? ﬁ It has 2 circular faces
Roman Dlglts i
O vertices
Numeral
VI 6 The shape is:
300em + 50mm =
IX
V
4m — + 250cm = 3m 10
Circle the vertical line. Look at the pictogram.
8x 17 =
Day Feople swimiming | How many more
= = penple went
swu'n.rrung on
Monday ﬁ +1 Saturday than
- Tuesday?
Tuesday B
Wednesd —
(= 25 I]l:l
9 +1 How many fewer
Thurs IiEI.H PEOP[E went
+2 swimming on
. Tuesday than the
Friday ﬂ day after?
Saturday +32 Ié O
NO

N Y




Name:

(Sheet 8) Y3 HW

Occa.stmwily, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Use the symbols
< = > to make the statements
correct.

389 398

299 200 + 9

2 eighths + 4 eights =

9 tenths — 3 tenths =

Draw a 2D shape with

parallel lines.

What fraction of the set of
objects are shaded?

PAEBAS S
i?*i‘z

SR
e

)
e

What is the mass of the object?

4 x 17 =

[

I am facing
East.
I turn until I
am facing
E  North

Have I turned more

S or less than a
right angle?

Q
<
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Name:

Occa.stmwily, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

(Sheet 9) ¥3 HW

< = > to make the statements

300cm
0.51

700g

Use the symbols

correct.

300mm

500ml

/kg

Which is greater?

1 eighth or 1 quarter?

Which is smaller?

T tenth or 1 half?

Draw hands to show 1 hour

later than 6:40pm.

8ml
eml
4ml
2ml
Oml

ml

How much water is in the vessel?

Draw an arrow on the number line to

show %2.

192 + 197 =

Which is the odd one out?

Use mathematical language to explain.

AN




Name:

(Sheet 10) ¥3 HW

Occas'wnally, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Draw a pair of perpendicular What is the perimeter How much money is there? Use the symbols
lines. of this shape? < = > to make the
statements correct.
: & B 3B o & o f gl
£5 | g of Emgiana "
s F B B & 3 3am 3cm ~E - S
o Tonds P 5 60 min 1 hour
» W e W e 50 seconds T min
oL 4cm
5 minutes 120 seconds
Complete the statement to make it correct. Jack’s b k 56
One has been done for you. 999 - 702 = ack's beanstalr grows to m

2 right angles = 2 turn

1 right angle =

3 right angles =

,"/'\ \_
A ~

His sister’s beanstalk is 3 times as

long.

How tall is his sister's?

AN
Q00O
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Name:

(Sheet 11) ¥3 HW

Occasmlly, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscuss it with someone who you think may know-

How many right angles does
this shupe have?

Put these j’ractions in order
starting J‘rom the smallest.

One teddy costs 25p.
I buy 4.

240+ 40+ 5+ 2 =

5 e
1 2 3
q 9 ) 9
How much change do I
get from £17? 200+ 60+ 100+ /7 =
The numbers in t?gg[angle add up to 23 x 3 = The perimeter of the square is 20cm.

Write the missing number.

olo®

True or False? Explain your answer.

5em

NN

Q00O




Name: (Sheet 12) ¥3 HW

Occa.s'meLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrordLscuss it with someone who you think may know-

I'm thinking Uf a Inumber. How many vertices doc;s the I have a stack of books which
When you multiply it by 8 the 4 4 2 - shape below have: is 6 books high.
answer is 48. 8 8 My friend’s stack is double as
. 5 much.
What is my number: How many books does my
3 _ 2 _ friend's stack have?
3 3
S 2 =
7 7
I
il
My favourite show starts at 8:20pm. 3 y 33 Which lines are parallel? Circle them.
It is 45 minutes long. X =

What time does it ﬁnlsh?

AN
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Name: (Sheet 13) Y3 HW

Occa.s'mw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Sharon has lunch at this time. Write in the missing numbers. I have 1 chocolate bar. I need Fill in the missing numbers.
to share it between 7 people.
How much does everyone get?
=27+ 3
387 = + 80 + 7
201 = - 80+ 10 1
What time is it?
q00+ =q80 _qb ;12
Draw a shape with 3 sides and one _ I collected 450 stamps.
right angle. 1 ’OOO - 24 = My sister gave me 100 more.
Then I lost 20.
* * * * * * " * How many do I have left?

- - - - - - - - I;"l *_ e ‘.‘-v-.-'\
q e

- - - - - - - - Q
- - - - - - - - <
Q_l




Name:

(Sheet 1) Y3 HW

Occas'mwuy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Tia’s birthdag is in 2 weeks.

Zach’s birthday is in
20 days.

Whose birthday is first?

Calculate the answers.

10 . 8 -
10 10
3 - 1 =
q 9
8 8

Circle the heaviest parcel.

Write the answer as a
jraction.

6 divided by 10 =

3 divided by 10 =

/ divided by 10 =

Look at the measurements.
Tick the shortest pencil.

{(Not to scale)

3x17 =

/ / /

80mm dem 9mm

Which lines are perpendicular?
Draw a curve around them.

AN A
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Name:

(Sheet 15) ¥3 HW

Occa.sLonaLLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscuss it with someone who you think may know-

MU alarm goes of_f at 8:15.
I snooze it for 20 minutes.
What time will it go back on?

Calculate the answers.

12 12
2 _ 1 =
3 3
q q

Circle the lightest purcel.

fifty grams

one kilogram

How many pairs o_f
perpendlculur lines are there?

Name the 2D J‘aces this shape is

made _from.

/8 + 627 =

Colour in the multiples c:-j 3.

e W
*%ﬁg
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Name:

(Sheet 16) ¥3 HW

Occasmlly, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscuss it with someone who you think may know-

Answer the questions below.

How many 4s go into 407

How many 3s go into 337

How many 8s go into 647

What is the number 50 less
than 4527

What is the number 140
more than 6617

What fraction of the
shape is shaded?

Work these calculations out
mentally.

/35-7 =

123 - 13

456 + 54 =

Fill in the missing numbers from the
number line.

8x /8=

School starts at 8:50. It takes me one hour
to get there. What time do I need to leave

home to get there at 8:507

A/
1000
MR



Name:

(Sheet 17) ¥3 HW

Occa.stmwily, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Write a 3 digit number with 9
in the tens place.

Write a 3 dLgit number with 4
in the hundreds place.

Sade’s dad says they will go
to the park at a quarter to
4. Draw hands to show
this.

Rosie has % o_f 20 sweets.

Leanna has V4 of 24 sweets.

Who has the most?
Explain how you know.

What is three multiplied bg
eight?

What is e'Lght multiplled bg

eleven?

Class

= 4 certificares

Stﬁr of the week certificates for attendance

932 — 44 =

Blue I % 5

Red S S

Yellow *

.\{-f
Green vi‘t? wﬁr

Purple .

How many children received a certl_ficate

in blue class?

f4cm

What is the perimeter oj this shape?

3em

4cm

3cm

NN
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Name:

(Sheet 18) Y3 HW

Occas'wnally, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Ria goes to bed at this time.

Write the number which

represents the ones place

Finish the calculation using
drawLngs.

Circle the picture that shows

the alien a_fter turning 3 rig ht

angles clockwise.

-I"FT‘;@

00 00 OO0
552 863

00 00 00

Q1 100 00 00 00

00 @O OO i éﬁ:ﬁ

What time is her bedtime? 30 39 1, 3 _ 5 ggg 'P;r
8 8 oo
Tick the equivalent fractions. 643 — 631 = Draw a hexagon.

- - - - -
- - - - -
- - - - -
- - - - -
- - - - -
- - - - -
- - - - -

00]0)

N Y




Name:

(Sheet 19) ¥3 HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

How many days are there
between October 15t and
November 3rd?

How many minutes are there

between the times shown on
these 2 clocks?

Draw a line to match the
calculation to the correct
answer.

87 + 10 =

6+ 10=

1/2 of 18 =

Circle 3/6 of the apples.

i)
10

:zz; i

97

10— Class 4's Favourite Stor .
J What numberis 382
. less than 6287
]
4
-
0
Goldilocks Hansel The Little Red
and Gretal Gingerbread Riding
Man Hood
How many more children chose Goldilocks than
Little Red Riding Hood?

Write these numbers in words.

48

911

808

AN
Q0O




Name: (Sheet 20) Y3 HW

Occasmlly, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscuss it with someone who you think may know-

Circle the angles which are Circle 2 numbers that will add Continue the pattern on the Calculate the answers

less than a right angle. up to make a multiple of 5. caterpillar. mentally.

383 + 210 =
6 7 8 9 10 11 12

921 - 300 =
301 + 40 =

Look at the shaded shape. Match each Minnie buys 3 bananas and 1 kilogram

fraction to the correct place on the 643 — 631 = of strawberries. How much does she pay?

number line. One has been done jor you.

each banana 20p

NN
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Occas'mwuy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

(Sheet 21) ¥3 HW

What is the time?

True or False?

You need a pair c-j lines to
make a parallel line.

Horizontal lines go _from rlght

to left, or left to right.

Count in
steps 0
100
forwards

Count in steps of 50

forwards

v

350

Tick the angles that are
greater than a rlght angle.

500

Look at the pictogram.

procedure 9 _4
L

haircut . . .

wash . . +1

blow dry . . .
[ 1 X

colour . .

style +6

True or False?

Twice as
many people
got a haircut
than a style.

392 - 367 =

Look at the balance scale.

((2na)
(2m)

A

What's the mass of 1 O ?

AN
QQO




Name:

(Sheet 22) Y3 HW

Occastmwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Work out the calculations.

20mm+ 10cm =

100ecm + Tm =

5m - + 200cm = 4m

Count in
steps of 4
forward

Count in steps of 8
forward

'

20

What's my shape?

It has 6 faces

The edges are of equal

sides

The shape is:

36

Complete the table.

Roman
Numeral

digits

VI

XI

II

Circle the horizontal line.

=

43 x 8 =

Why do you think more people went

swimming on Saturdag than any other dag?

People swimming

Day £ -
-G- -
Monday & ﬁ +1
- ~a
Tuesday
~a_
Wednesday ﬁ o
.
Thursday +2
Friday ﬁ
-
Saturday ﬁ ﬁ ﬁ +2

OO0




Name: (Sheet 23) Y3 HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Count in steps of 10 from the Calculate the answer. I'm thinking of a number using Use the symbols
given number. the number cards below. < = > to make the statements
The ones digit is odd. correct.
70 multiolied bu 10 = The number is greater than
43 Pred By 600 and less than 900.

What is my number?

two hundred 262

/1 [ ]: I J and sixty one

0
70 divided by 10 = [7] [q} 20 + 20 + 7 0 4 7
38
How much more do [ need to add to I am facing West. I turn clockwise until
make 700g? Sx/3= I am facing South.
How many right angles have I turned?
N

W E
- 0
ae




Name:

(Sheet 24:) ¥3 HW

Occastmwdy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Which is greater?

one tenth or one twelfth?

Draw hands to show 1 hour

bejore 3:1 5pm

Write these numbers in order
from the greatest to the
smallest.

N [—J
( 878 7187 887

J J

Y ) (—\

S J s vy

Name the shapes.

Draw an arrow on the number line to
show 1.

4

428 + 224 =

2 |

90cm

5000g

Use the sgmbols

20 1

50k

< = > to make the statements correct.

NN




Name:

(Sheet 25) Y3 HW

Occa.sLonaLLH, there may he some questions we have not covered. in class yet. Don't panic. Have a gO‘OT'dLSCLLSS it with someone who you think may know-

Benji’s scarf is 3 metres.
Hibda’s scarf is 4 times as long.
How long is Hibda’s scarf?

What does the number 9
represent in these numbers?
Ones, tens or hundreds?

How much money is there?

Draw a horizontal line.

Complete the statement to make it correct.

One has been done for you.

1 right angle = ¥4 turn

492 — 104

4 right angles =

120 minutes

30 seconds

2 right angles =

15 minutes

Use the sgmbols
< = > to make the statements correct.

1.5 hours

5 a minute

quarter of an hour

AN
Q00
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Name:

(Sheet 26) Y3 HW

Occasmlly, there may he some questions we have not covered. in class yet. Don't panic. Have a gcrorcLLscuss it with someone who you think may know-

How many right angles does
this shape have?

140 + 10+ 7 + 3 =

700+ 1+ 40 + 10 =

Order these fractions starting
from the greatest.

One mug costs £1.00.
I buy 4.

How much change do I

get from £107

The numbers in the triangle add up to

20 53X4=

Write the missing number.

&)

The perimeter of the square is 12cm.
True or False? Explain your answer.

3cm

ol

A
OO0
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(Sheet 27) Y3 HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

Name.:
I'm thinking of a number.
When you multiply it by 4 the
answer is 20. .
2
What is my number?
3
4
E
6

+

Calculate the answer.

1
2

How many vertices does the
shape below have?

I have £5 in my pocket.
Sidney has triple the amount
I have. How much does

Sidney have?

Bank qffrgﬂsz ‘q. .‘?":J
£5 @J Five
Five | Pounds 5

My favourite show starts at 1:00pm. It
is 55 minutes long. What time does it
finish?

42 x5 =

Which lines are parallel? Circle them.

A/
000

N Y




Name: (Sheet 28) Y3 HW

Occastmw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

How many days are there in Fill in the missing numbers. I have 1 apple. I need to share What number does the table
these months? it among 8 people. What represent?
fraction of the apple does
M everyone get? 100s 10s Is
ay 333 = + +3
April o ¢
P 431 = ¥ .. O
D ecember .
300 + = 980
February
Tia has dinner at this time. I collected 150 stamps.
482 - 214 = My sister gave me 120 more.
Then I lost 10.
How many do I have left?
What time is it? {% ﬁ*
NSOr
NSOV
N Q?‘




Name: (Sheet 29) ¥3 HW

Occa.s'mw[[y, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

I have a party in one week. Circle the lightest parcel. Write the number of eggs on

Today is Wednesday.

What day is my party?

6009 bkg

9 divided by 10 =

8 divided by 10 =

2 divided by 10 =

the basket Farmer Joan
needs to get 60 altogether.

gemme

07

Look at the measurements. Tick
the longest rubber.

(Not to scale)

Sxl6=

s disZ

e

100mm 50cm

90mm

Which lines are perpendlcular?
Draw a curve around them.

A/
DOO

NRRY




Name:

Occas'mwuy, there may he some questions we have not covered. in class yet. Don't panic. Have a qo or discuss it with someone who you think may know-

(Sheet 30) ¥3 HW

Calculate the answers.

o~

+£=

1 12

[

wro
1
w|—

o|u:
+
NN

Circle the heaviest parcel.

fifty grams

one kilogram

Name a 3D shape which has a

tri.angle as a jace.

Calculate the answers.

(100) (oY)

({ 100 10 10
o)t -
N -

N

How many hours did I sleep?

I went to bed at 8pm. I woke up at 7am.

42 + 99 =

How many pairs of parallel lines are
there?

AN
000

N Y




